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Sin-X->1/42

M/4<x<3T1/4

M/4+2TTn < X < 3T1/4+2TIn

(TT/4+2TIn; 3T1/4+2TIn),

ne€Z’z




Y, sinB

sin X <.0

-MT<X<O

-TT+2TTn < X < 2TIn

(-TT+2TTn; 2TIn), n € Z




LOSW< «WN/Z

3T1/4<x<5T1/4

311
ey
3T1/44+2TTn < X < 5T1/4+2TIn

cos f3

(3T1/4+2TTn; 5T1/4+2TIn),

n€Zz



cos X =0

-TI/2 < X < T1/2

-TI/242TIn < X < TI/2+2TIn

(-TT1/24+2Tn;T1/2+2TIn), n € Z




tg X 2 113

M/ 6<x<T/2
/641N < xX < TI/2+TIn
[TT/6+TIn; TT/2+TIn),n€ Z




tg X = -1
-TT/2 < x £ -TI/4
-TT/2+TTn < X < -TT/4+TTn

(-TT/2+TIn;-TI/4+TIn],n€ Z

| tg B
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y = sin X
-ZH/—BHVZ\-N/Z l 0] 11/2 3T1/2 H/STI/Z\3]T
=1
Z
Yy = COS X
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y = clg x







Yt y=2sinx

=211 -3T1/2 - -T1/2 5MM/2 3T

X

21T STI

y = -3 COS X



y = sin y = sin X
2 1 /\
=211 -3T1/2 - -/ 2 0 2 371y 2 T 5TI/2 3T =X
-1
YA
Yy = COS X
=210 -BWZ 0O T 3/2 2T 5T 3 x
-1
cos 2



